>
A & 0l & AF 2 E A A
20169 = S0& LB H nsss
A DSSFL
M HEE WSEF JIERH
@2 =X S8 sns s4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
nNESFH 16,180,069 15,165,628 1,014,441
= 2,136,016
< 14,044,053
Helgt nsS2% Jlg+= 16,130,083 15,118,419 1,011,664
= 2,136,016
< 13,994,067
=2 SH s s4 12,662,484 12,190,448 472,036
= 716,016
< 11,946,468
HAHA SR 894,024 905,922 211,898
= 596,016
< 298,008
403 XIS E X201 H 894,024 905,922 211,898
= 596,016
< 298,008
01 AXSHHMA2E = 894,024 905,922 A 11,898
OM&aHA EgE=x 894,024
= 596,016
< 298,008
AMNAHAZ2SAISE HE XA 3,678,010 3,498,010 180,000
307 glz2tol & 3,678,010 3,498,010 180,000
09 2HAHAEXES 3,678,010 3,498,010 180,000
OANHASEMNY HEXH 3,678,010
ANU(sHE)HA 2SAIY MEXE 6,121,013 4,669,509 1,451,504
308 XX EHSOIA 6,121,013 4,669,509 1,451,504
01 HIXNHHBNEES 6,121,013 4,669,509 1,451,504
OANU(sHE)HA 2EAY HEXE 6,121,013
HALd EA84 612,062 548,513 63,549
308 XXM SOIA 612,062 548,513 63,549
01 AXHHBILEES 612,062 548,513 63,549
OHI-d &84 612,062
AUEM SEHA X 173,646 288,000 A 114,354
403 A X EHS =0l A 173,646 288,000 A 114,354
01 X EHHMA=LE L 173,646 288,000 A 114,354
O2REMN 2EHA XA 173,646
SEgusst T BX 156,000 156,000 0
= 120,000
< 36,000
403 X SHHSA=0l& 156,000 156,000 0
= 120,000
< 36,000
01 HXSHMA=E X 156,000 156,000 0




EX: E=F
Mz HHE|gt WESFE JletR=
e 22X S zus 4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OSgEuNE4sC £ 8X 156,000
= 120,000
= 36,000
nNEHH =X 28,500 25,500 3,000
201 et | 22,500 22,500 0
01 AP 2t 2] d| 22,500 22,500 0
OgetE A= 2| 22,500
202 044l 3,000 0 3,000
01 2L I 3,000 0 3,000
O=2J x5 &% 2= 3,000
203 R F & 3,000 3,000 0
03 AIZH =& 2 =X H| 3,000 3,000 0]
OnsdsdAdLFA 3,000
HsznEeSI X0 s 39 L AHHlA BosdY 60,000 0 60,000
207 I | 60,000 0 60,000
01 A2 ESHH| 60,000 0 60,000
OUlsnsE 29 X0 s 29 L MUIAZED
29 60,000
HE 2 2R gR2FX 5,000 5,000 0
203 € R =& 5,000 5,000 0
03 AIZH =X H 2 F X H| 5,000 5,000 0
OFEL & EF]CHIX gRF&X 5,000
AMAHA Bl SAMANY A 100,000 30,000 70,000
207 I & d 100,000 30,000 70,000
01 A& | 100,000 30,000 70,000
OAHA HEAdL A &AMMY 29 100,000
BHAl JIEZM =22 K& 234,229 163,994 70,235
308 AMXISHMSOIA 234,229 163,994 70,235
01 AIXSHMENEXZ 234,229 163,994 70,235
OEAl IIEZHM =22 XN&E 234,229
AMZB0I2 HEEHA 2E A& 600,000 0 600,000
308 XHXIEHSOIA 600,000 0 600,000
01 AIXSHMEMNEX= 600,000 0 600,000
OAZ20t2 HEHHA 29 K& 600,000
melotn otMsE NEsAE X4 3,467,599 2,927,971 539,628
= 1,420,000
= 2,047,599
A2 & X RIEMHH A MDD S 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0




A DSSFL
M HEE WSEF JIERH
el HelsiD oHEE WESE X4 CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 5,000 5,000 0
OHAI2F X B MHIA HAX A 5,000
DEMDE0II2s 28 AHXA 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
02 HAHFHAANGFEX 7,000 7,000 0
OuSADNE0I2S & AN 7,000
NS 23H EX 1,262,599 1,188,599 74,000
308 XX EHH SOl A 1,262,599 1,188,599 74,000
10 SII 2SO CHEHZ & = O & A& I 1,262,599 1,188,599 74,000
Ousg+=3d 294l X 1,262,599
S2Hel2d 3 L HE M 13,500 13,500 0
201 £B-2dH| 13,500 13,500 0
01 At 22l 13,500 13,500 0
OZSHSE DM L U= A= 13,500
Al SAIIEEX &X K& 280,000 0 280,000
308 XX EHSOIA 280,000 0 280,000
01 IXNSHHBNEES 280,000 0 280,000
OHAl SAJISHEX &1 K& 280,000
BHEZ WSHA 25 1,280,000 500,000 780,000
= 1,280,000
403 XIS E X201 & 1,280,000 500,000 780,000
= 1,280,000
01 X SHHAN2E= 1,280,000 500,000 780,000
O&EHEZ WsSHAH +5 1,280,000
= 1,280,000
WSt BH = S MHEEE 39,500 42,400 A 2,900
201 Let24dH] 39,500 42,400 A 2,900
01 At 22/l 39,500 42,400 A 2,900
Ounsotd Zme das s M 88 39,500
OlcHEE S MSHSE S XY 2 30,000 0 30,000
308 XX EHSOIA 30,000 0 30,000
10 B2 S0t B & XA 30,000 0 30,000
O0IHEE dusS Metgos X8 2F 30,000
FItWEZAM BSASE 280,000 0 280,000
= 140,000
< 140,000
308 XXM SOl A 280,000 0 280,000
= 140,000
< 140,000
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